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RBEE 2

Pr=(1:0:0,P,=(0:1:0,P3=0:0:1),P=(1:1:1)%2FEFLAP> AD 4 KL,
Ps=(a:b:c) T3 SBIC, Pr....,Ps 83 2 REBIR%E Cuipe) &TB.

a) C(a:b:c) DHFERZRD LK.

b) Clabie) DIERIETH DO DR RD K.

FEAA TR (M) IHFFEE P? DIHRILR 2 RERT, (1:+i:0) #BREDELTEESNS.

Q) PPOBESU ={(X:Y:2Z2)| Z#0 P74 VB {(x,y) |x.yeK} &%, BIRX:Y:Z)
(X/Z.Y)Z) IC&k>TRE—8T3. COEE, LOKSICEBSNIHIEP 7+ EEBADREDHICH
BT E=EHDL.

b) Pi. P, P37 U DBEQGSE3IRETS. CDEE, 3R P, P P 2@3AN—BHICEZSICD
DRETHARHEGFINS IRNBE—BRLICBVCETHDEETRE.

Ci. G ZROHBATEASND 3 RIBKRET S,

Cy:X3+42v3—Xxz2-2YZ%=0,
Cr:2X3—-Y3-2XZ7%2+YZ%=0.

b) {(0,0), P1,..., Pg} % a) TRDOITXRETD. Pi,..., Py 782 3 RBRIF I BTFTBE DX (0,0) LEBC
CEEREDDL.

F(X,Y,Z)€k[X.,Y,Z] % n RERZBERET B.
a) F O3 DORHAEOINE n— 1 REARZERXTHD %R,
b) ROXSRYIIDI ExRE.

OF _OF _OF
x4y E 4 2% L F(X.Y.2).
ox Ploy T4z = fX1.2)

(EV bk F@X,tY,tZ)=t"F(X,Y,Z) % t DBEKEHATHDELK.]
) CAEPPATF(X,Y,Z) =0 CEZSNZHREL, PAP2DRETD. PRYUILEC LOSTH
BEFRELBL. ZDEE, PHC DRI THHICHICE

oF oF oF
G_X(P)Za_Y(P)ZB_Z(P)ZO

DRUIDIED BTN THDH I EZRE.
d) P% C LOFRRELGRETS. C D P ICHFBEEOHRERS

OF IF aF
X (PY+Y o (P) + Zo (P) =0,

THEABNBEZRE.
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